| Efficiency vs Dxy |
> 0.1
<

S : : : : : : : : :
0,004

| S S S S S
R R = T A S
KT O e AL (RS S S St S
R T T N S
0.06 -ttt
USSR
71
O3

5 R e o o s
s Tt o
OL\Q

Rati
=
!

098 56-156-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_V0001_R000000001__Global__mkFit_baseline
| Efficiency vs Dz | —e— DQM_V0001_R000000001__Global__mkFit_jcore50maxCand-24DUPremoval-1000

0.1 —— DQM_V0001_R000000001__Global__mkFit_jcorelOmaxCand-24DUPremoval-1000
N U, ; T T T
> : :

0O
3 : : : : :
OB
O N N N H H
$0.07 : : 3 B R A
o : : ; : :
0.06 """"""
Y S | S I - —
008wt

0.03 ...........

0.02 ...........
0.01] RS m—
o+ | | | '

30 20 -10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


